- ! GEOMETRY (Set A)
Time : 2.30 Hrs.) Questlon Paper September 2009 (Max. Marks : 60

" Note : Please see to Question Paper March 2009. . | A-

Q.1 : Solve any six sub-questions : ,
() inthe AABC, a line paralie! to the side

" BCintersects the sides AB and AC |
in the points M and N respectively, such
. thatAM =8, MB =12, AN=6.FindNC.
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{iiy Find the diagonal of a square whose side is 20 cm.
(iliy In the figure, P is the centre of the circle - '
" and line AB is the tangent to the circle.
at the point T. The radius of the circle is
- 5 ¢m. Find the distance of P from the
ine-AB. Give reason. .

(iv) in the given figure, m(arc DEF) = 140°,
~ then find m £ DFS. Gives reason. -

‘-{9) Draw L ABC = 65°, Con‘struct_the bie.et_:tor of L ABC. (Do not write conSt_ri'Jction)'. N
{vi) if cos A= e find sin A.

volume. . : g I : :
(viii} Find the distance between the points P (2, 1)-and Q{-1,5).
Q. 2 : Solve any four sub-questions : L '

* (vit) The length, breadth and height of a cuboid are 11m, g.5mand3m respectively. Find its

1act - o _ - {12

© ¢) 'n.a right-angled triangle, hypotenuse is 61 cm and one side is 11 cm. Find its cther side
and the area. of the triangle. o ' L S ' ' o

- {il) Three congruent circles with centres A, B
ard C and with radius 4 cm esch, touch each
other in points D, E, F as shown the figure.
(a) What is the perimeter of AABC? .
(b) What is the length of side DE of ADEF?
(iii) Evaluate : $in?38. + sin?52.

o o 5 .22
() W hatls the volm e ofa cylnderwih mdiis 8 am and heght28 om ?2{n= 3
&) In the given figure, A, B and C are three points E A '

on a circle with centre O such that mLAOB = _ . L

110°, m{LAOC = 120° Find miL BAC. .
‘(vi) Draw a tangntto a circle with centre O and radius 3.2 cm at any point K on the clrcle.
Q.3 : Solve any four sub-questions :* - L T &
(i) In the given figure, ' : - ' "
A (APQS) - 100 cm?..
Find A (AQRS). .
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(u) In the figure, : '
{PQR = 80°..Seg QS Lside PR.
Find values of x, v, 2,

. ifPS=8,8R=10.

(lil) In the given figure, ,Q.ABC is.an

" isoscetes triangle with perimeter
44 cm. The base BC is of length
12 cm. Sides AB and AC are
congruent. A circle touches the

. three sides as shown. Find the
length. of tangent segmant from

"ASto the clrcle

{iv) In the given figure,
Chord AB of the circle is
. parallef to the tangent at C.
Prove that AC = BC. '

sin@+tan® <tinnl \Ar ~r
—-——-—-——tanel{1+secﬁ) : S
cos9® : _
(vi) G (-4, -7) is the centrond of A ABC where A= (-1 -?) and B= (3 5) Fmd the. coordmates
of C. : oL
Q. 4 : Solve any three sub-questlons T ' (12) _
(i) if aline dlwdes two sides of a trlangle in the same ratto then the lme is parallel to the thlrd
: suie Prove it. .
(i) Adjacent srdes ofa parallelogram are 11 cm and 1? cm Its one diagonal is 26 m. Fmd:jts
- other diagonal. - B , c e
{iii) n the figure, AB is the diameter of the clrcle - ' l
“with centre P.Line CB is atangent and line ADC
is & secant. Prove that
AC x AD = 4 (radius)?.-

(v} Prove that'-

: {iv) OI| tins of cubolda! shape are matieffom a metallic shest with length 8 m and breadth 4 m.
. Each fin has dimensiors 60 % 40 x 20 lﬁ G aihd |s open from the top Find the number of such
: tlns that can be made. : :

_ {(v¥) The inscibed circle of AABC touches side
ABatL, side BC at M and side AC at N..Prove that T

A{AABC) = Py (pefimeter of AABC X radius of

inscribed circle.)
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(vi) InAABC,BC=58cm, BP LAC,CQ L AB BP=5 cm CQ 4 8 om. Conslruct AABC
(Do not write construction) . : o
Q. 6 : Soive any three sub-questions : | _ L (12)
() in DABCD, side BC Il side AD. -~ . - - | _
-Diagonals AC and BD interest each

- : 1
other at the point P. If AP = E-AC._'_

then prove 1hat DP - BP

(Ii) Prove that the opposne ‘angles of a cyclic quadrllateral are scrpplementry
(I Draw a_circle with centre M and radius 2.7 cm. Take a point P-such that length of seg PM is

7. 5 cm. Draw tangents to the circle through P. Draw a circle that touches the given clrcle and the
tangents (Do not write construction) - -

(iv) A tree breaks due to a storm and the broken part bends so that the top of tha tree touches
“the ground making an angle of 30° with the ground. The distance from the foot of the tree to the
point where the top touches the-ground is 10 m. Find the height of the tree. : : '

(v) Plastic drum of a cylindrical shape is made by melting spherical solid plastic balis A redtus 1
cm. Flnd the number of balis required to make a drum of thickness 2. crn hesght 90 cm and other

: . ) . i P 22
radiusSOm (Drumhas no tld} 1K 3 [ (n=——)
(vi) i (-7, 6), (8, 5y and (2 2) are the midpoints of the sides of trlangle find the coordmates of
ite- centrold _ - _ : ) C ded
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